

### CITY OF PROVIDENCE, RHODE ISLAND

**Department: Providence Water** 

RFP Title: Accelerated Lead Service Line Replacement Program Contract 1.1

Opening Date: 08/28/2023

Addendum #: 2

Issue Date: 08/23/2023

The purpose of this addendum is:

Contract documents modified, amended and supplemented.



## **ADDENDUM NO. 2**

TO: ALL CONTRACT DOCUMENT HOLDERS OF RECORD

ALL PROSPECTIVE BIDDERS

PROVIDENCE WATER

125 DUPONT DRIVE

FROM: PROVIDENCE, RHODE ISLAND 02907

PHONE: (401) 521-6300

**DATE ISSUED:** WEDNESDAY, AUGUST 23, 2023

ACCELERATED LEAD SERVICE LINE REPLACEMENT PROGRAM -

RE: CONTRACT 1.1

CONTRACT NO. 20234

**BID OPENING** 

**BID OPENING** 

DATE:

MONDAY, AUGUST 28, 2023 AT 2:15 PM

**BOARD OF CONTRACT AND SUPPLY MEETING** 

CITY COUNCIL CHAMBERS

LOCATION: PROVIDENCE CITY HALL 25 DORRANCE STREET

PROVIDENCE, RHODE ISLAND 02903

**LAST WRITTEN** FRIDAY, AUGUST 18, 2023

**QUESTIONS DUE:** 

This Addendum No. 2, including all referenced attachments, modifies, amends, and supplements designated parts of the Contract Documents to the above-referenced project and

shall be part of the Contract Documents as provided in the "Instructions to Bidders" for the above-referenced project.

above-referenced project.

Acknowledge receipt of this Addendum by inserting its number and date on page 00 41 00 – 1

of the Bid Form. Failure to do so may subject the Bidder to disqualification.

The Contract Documents are hereby modified, amended, and supplemented as follows:

ACCELERATED LEAD SERVICE LINE REPLACEMENT PROGRAM – CONTRACT 1.1 CONTRACT NO. 20234 ADDENDUM NO. 2 AUGUST 23, 2023 Page 2 of 4

#### **ATTACHMENTS**

The following attachments are included with this Addendum:

1. Appendix A – LSL Addresses

#### **SPECIFICATIONS**

- 1. SPECIFICATION 01025 MEASUREMENT AND PAYMENT:
  - a. <u>ADD</u> the following after the last sentence of Paragraph 3.05.C.3 (added via Addendum 1): "Assume RPZs required are 1-inch in size. Contractor will be paid the difference in material costs for any required larger RPZs under Item S-4 Miscellaneous Work at the Direction of the Owner. Contractor shall provide the invoices to indicate the price difference. No overhead or profit will be paid on the difference in price."
  - b. <u>**DELETE**</u> Paragraph 3.08 PAVEMENT RESTORATION WITH CONCRETE SUBBASE (ITEM S-2A) in its entirety.
- 2. **SPECIFICATION 02663 WATER SERVICE CONNECTIONS:** <u>**DELETE**</u> Paragraph 3.02 in its entirety and <u>**REPLACE**</u> with the following Paragraph 3.02:

#### "3.02 ELECTRICAL GROUNDING

- A. Prior to performing a replacement involving the private-side (curb to meter), the Contractor shall have a quality inspection performed by a competent person properly trained to check if the existing water pipe is being used for grounding and test for current with a multi-meter. If used for grounding, the Contractor shall perform the following:
  - 1. For a private-side only replacement, install a temporary bonding jumper in parallel with the existing service line, firmly attaching approved grounding clamps to either side of the service line to be repaired, replaced, or reconnected. Contractor shall ensure the connectors are contacting bare (clean) service line material for a metal-to-metal contact. Contractor shall remove temporary grounding after completion of all work and perform a reinspection by a competent person properly trained to check if the grounding system is properly functioning.
  - 2. For a full replacement (water main to meter), install a temporary bonding jumper in parallel with existing service line from the existing water meter to

ACCELERATED LEAD SERVICE LINE REPLACEMENT PROGRAM – CONTRACT 1.1 CONTRACT NO. 20234 ADDENDUM NO. 2 AUGUST 23, 2023 Page 3 of 4

the existing water main firmly attaching approved grounding clamps to the service line and magnetic connector to the water main ensuring contact with bare (clean) service line and water main material for metal-to-metal contact. For bonding connection to water main, Contractor shall excavate and expose water main and then clean pipe so that magnetic device can make metal-to-metal contact. Contractor shall remove temporary grounding after completion of all work and perform a re-inspection be a competent person properly trained to check if the grounding system is properly functioning.

- B. All work shall be in accordance with the National Electrical Code and City of Providence or Cranston requirements for grounding systems.
- C. Contractor shall perform the work utilizing appropriate Personal Protective Equipment (PPE) and maintain the existing level of electrical grounding through the water service line replacement process. Do not cut the existing service line until the temporary bonding jumpers are installed.
- D. Once the new copper water pipe is installed, Contractor to connect the pipe to the grounding system with a jumper across the meter for continuity. Existing conditions prior to the replacement shall be restored.
- E. If improper grounding or electrical work is detected, the Contractor shall notify the homeowner who will need to contact an electrician to correct the electrical work in the building before the replacement can commence. No work shall be performed until the improper grounding or electrical work is corrected. If the electrical issue is identified on the day scheduled for replacement at that address, the Contractor will be paid under the Bid Item for "No Access Provided" and will return to the house for the replacement once the homeowner notifies the Contractor that the grounding is corrected."
- 3. <u>DELETE</u> Appendix A in its entirety and <u>REPLACE</u> with the attached Appendix A in Attachment 1 of this Addendum.

#### WRITTEN QUESTIONS AND COMMENTS SUBMITTED

1. QUESTION: Also, related to section 02663 3.02 – Electrical Grounding. It is understandable that we check for electrical grounding prior to cutting the pipe, but why is the responsibility of making grounding modifications being put on the contractor and/or plumber? Neither should be performing this work. It still involves copper wiring and should be done by an electrician under a permit. Is this something you can add a separate item for, and specify that an electrician is required? I do not think we should

ACCELERATED LEAD SERVICE LINE REPLACEMENT PROGRAM – CONTRACT 1.1 CONTRACT NO. 20234 ADDENDUM NO. 2 AUGUST 23, 2023 Page 4 of 4

need to carry this cost in all of our private side replacements (just in case we come across it). If you make it a separate bid item with a nominal quantity, it will cover the situations where this arises and we can be compensated for hiring an electrical subcontractor.

**RESPONSE**: See revised grounding requirements in Section 02663 Paragraph 3.02. It shall be assumed by the Contractor that the water pipe is part of the electrical grounding system at each location.

 QUESTION: For the RPZ, is that item just for 1" or does it include all sizes? Based on discussions with a plumber, the cost varies significantly between a 1", 1.5", and 2" backflow preventer.

**RESPONSE**: Assume all RPZs required in the project area are 1-inch in size. If a larger RPZ is required, the Contractor will be paid the difference in cost under Item S-4 Miscellaneous Work at the Direction of the Owner. Contractor shall provide the invoices to indicate the price difference. No overhead or profit will be paid on the difference in price.

3. **QUESTION**: Can the list of addresses be sorted by street? So we can get a better feel of how many houses are on each street?

**RESPONSE**: See Attachment 1 for Appendix A sorted by street.

- 4. **QUESTION**: Can you add an item for concrete road-base restoration? If an item is not added, where would this work be covered, under misc. concrete?
- 5. **RESPONSE**: If concrete road-base restoration is required, the concrete will be paid for under Bid Item S-2 Miscellaneous Concrete.

-END OF ADDENDUM NO. 2-

# **ATTACHMENT 1**

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
40 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
41 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
45 ALTO ST, CRANSTON, RI	_	ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
48 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
60 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
64 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
71 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
76 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
79 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
80 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
87 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
88 ALTO ST, CRANSTON, RI	_	ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
92 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
93 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
102 ALTO ST, CRANSTON, RI		ALTO	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
104 ALTO ST, CRANSTON, RI	102		ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
5 APPLEGATE LN, PROVIDENCE, RI	104	APPLEGATE	LN	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
9 APPLEGATE LN, PROVIDENCE, RI	3	APPLEGATE	LN	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
22 APPLEGATE LN, PROVIDENCE, RI	22	APPLEGATE	LN	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
26 APPLEGATE LN, PROVIDENCE, RI		APPLEGATE	LN	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
7 ARGYLE ST, CRANSTON, RI	70	ARGYLE	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
12 ARGYLE ST, CRANSTON, RI	12	ARGYLE		CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY PRIVATE ONLY
		ARGYLE	ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY PRIVATE ONLY
43 ARGYLE ST, CRANSTON, RI	_		ST			LEAD	LEAD			
23 ASHMONT ST, PROVIDENCE, RI	_	ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL FULL
25 ASHMONT ST, PROVIDENCE, RI		ASHMONT	ST	PROVIDENCE	RI		LEAD		MULTI-FAMILY	FULL
26 ASHMONT ST, PROVIDENCE, RI	26		ST	PROVIDENCE	RI RI	LEAD			SINGLE FAMILY	
30 ASHMONT ST, PROVIDENCE, RI	_	ASHMONT	ST	PROVIDENCE		LEAD	LEAD		SINGLE FAMILY	FULL
34 ASHMONT ST, PROVIDENCE, RI		ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
35 ASHMONT ST, PROVIDENCE, RI		ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		COMMERCIAL	FULL
40 ASHMONT ST, PROVIDENCE, RI	_	ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
41 ASHMONT ST, PROVIDENCE, RI	41		ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
45 ASHMONT ST, PROVIDENCE, RI		ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
49 ASHMONT ST, PROVIDENCE, RI		ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
53 ASHMONT ST, PROVIDENCE, RI		ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
54 ASHMONT ST, PROVIDENCE, RI	_	ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
66 ASHMONT ST, PROVIDENCE, RI		ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
72 ASHMONT ST, PROVIDENCE, RI	72	ASHMONT	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
9 AUTUMN ST, PROVIDENCE, RI	9	AUTUMN	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
16 AUTUMN ST, PROVIDENCE, RI		AUTUMN	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
17 AUTUMN ST, PROVIDENCE, RI		AUTUMN	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
20 AUTUMN ST, PROVIDENCE, RI		AUTUMN	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
21 AUTUMN ST, PROVIDENCE, RI		AUTUMN	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
25 AUTUMN ST, PROVIDENCE, RI		AUTUMN	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
29 AUTUMN ST, PROVIDENCE, RI		AUTUMN	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
33 AUTUMN ST, PROVIDENCE, RI		AUTUMN	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
37 AUTUMN ST, PROVIDENCE, RI		AUTUMN	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
88 BAILEY ST, CRANSTON, RI	88	BAILEY	ST	CRANSTON	RI	LEAD	NL		SINGLE FAMILY	UTILITY ONLY
90 BAILEY ST, CRANSTON, RI	90	BAILEY	ST	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
92 BAILEY ST, CRANSTON, RI	92	BAILEY	ST	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
95 BAILEY ST, CRANSTON, RI	95	BAILEY	ST	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
104 BAILEY ST, CRANSTON, RI	104	BAILEY	ST	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
105 BAILEY ST, CRANSTON, RI	105	BAILEY	ST	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
8 BENNETT AV, CRANSTON, RI	8	BENNETT	AVE	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
24 BENNETT AV, CRANSTON, RI	24	BENNETT	AVE	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
76 BENNETT ST, CRANSTON, RI	76	BENNETT	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
14 BLUNDELL ST, PROVIDENCE, RI	14	BLUNDELL	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
57 BRACKEN ST, CRANSTON, RI	57	BRACKEN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
83 BRACKEN ST, CRANSTON, RI	83	BRACKEN	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
96 BRACKEN ST, CRANSTON, RI	96	BRACKEN	ST	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
97 BRACKEN ST, CRANSTON, RI	97	BRACKEN	ST	CRANSTON	RI	LEAD	NL	0.63	MULTI-FAMILY	UTILITY ONLY
126 BRACKEN ST, CRANSTON, RI	126	BRACKEN	ST	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
127 BRACKEN ST, CRANSTON, RI	127	BRACKEN	ST	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
107 BRIGGS ST, PROVIDENCE, RI	107	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
108 BRIGGS ST, PROVIDENCE, RI	108	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
112 BRIGGS ST, PROVIDENCE, RI	112	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
118 BRIGGS ST, PROVIDENCE, RI	118	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
120 BRIGGS ST, PROVIDENCE, RI	120	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
124 BRIGGS ST, PROVIDENCE, RI	124	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
130 BRIGGS ST, PROVIDENCE, RI	130	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
134 BRIGGS ST, PROVIDENCE, RI	134	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
137 BRIGGS ST, PROVIDENCE, RI	137	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
138 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
141 BRIGGS ST. PROVIDENCE. RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
145 BRIGGS ST, PROVIDENCE, RI	145	BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
150 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
151 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
152 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
155 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
160 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
161 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
165 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
166 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
169 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
178 BRIGGS ST, PROVIDENCE, RI		BRIGGS	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
18 BROWNE ST, CRANSTON, RI		BROWNE	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
27 BROWNE ST, CRANSTON, RI		BROWNE	ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
41 BROWNE ST, CRANSTON, RI		BROWNE	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
50 BROWNE ST, CRANSTON, RI		BROWNE	ST	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
66 BROWNE ST, CRANSTON, RI		BROWNE	ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
91 BROWNE ST, CRANSTON, RI		BROWNE	ST	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
18 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
24 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
32 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
37 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
43 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
50 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
55 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
60 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
85 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
88 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
92 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
94 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
143 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
146 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
149 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
158 BURNSIDE ST, PROVIDENCE, RI		BURNSIDE	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
	130	POMISIDE	ا ب	I NOVIDLINCE	141	LL/ \D		0.03	SHAOLE I VIAILI	I OLL

SOURCEST	FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
TRAININGSDEST, PROVIDENCE, RI	162 BURNSIDE ST. PROVIDENCE, RI	162	BURNSIDE	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
177 BURNOSCET, PROVIDENCE, RI		176	BURNSIDE	ST		RI	LEAD	LEAD			FULL
189 BURNODES T, PROVIEDECE, RI							LEAD	LEAD			
1999 BURNADDE ST, PROVIDENCE, RI											
198 BURNISDE ST, PROVIDENCE, RI											
200 BUNNSIES F, PROVIDENCE, RI 221 BUNNSIGES F, PROVIDENCE, RI 222 BUNNSIGES F, PROVIDENCE, RI 223 BUNNSIGES F, PROVIDENCE, RI 224 BUNNSIGES F, PROVIDENCE, RI 225 BUNNSIGES F, PROVIDENCE, RI 226 BUNNSIGES F, PROVIDENCE, RI 227 BUNNSIGES F, PROVIDENCE, RI 227 BUNNSIGES F, PROVIDENCE, RI 228 BUNNSIGES F, PROVIDENCE, RI 229 BUNNSIGES F, PROVIDENCE, RI 229 BUNNSIGES F, PROVIDENCE, RI 229 BUNNSIGES F, PROVIDENCE, RI 220 BUNNSIGES F, PROVIDENCE, RI 230 BUNNSIGES F, PROVIDENCE, RI 240 BUNNSIGES F, PROVIDENCE, RI											
221 BURNSDEST, PROVIDENCE, RI											
38 PYRELD ST, PROVIDENCE, RI 28 SPYRELD ST, PROVIDENCE, RI 29 SPYRELD ST, PROVIDENCE, RI 212 SPYRELD ST, PROVIDENCE, RI 213 SPYRELD ST, PROVIDENCE, RI 215 SPYRELD ST, PROVIDENCE, RI 216 SPYRELD ST, PROVIDENCE, RI 217 SPYRELD ST, PROVIDENCE, RI 218 SPYRELD ST, PROVIDENCE, RI 218 SPYRELD ST, PROVIDENCE, RI 219 SPYRELD ST, PROVIDENCE, RI 210											
22 PAPERED ST, PROVIDENCE, RI											
129 BYFIELD   ST											
138 BYFELD ST, PROVIDENCE, R    158 BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.68 BINNEE FAMILY   FULL   158 BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.68 BINNEE FAMILY   FULL   158 BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.68 BINNEE FAMILY   FULL   158 BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.68 BINNEE FAMILY   FULL   1.5B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD   1.6AD   0.75 BINNEE FAMILY   FULL   1.7B BYFELD ST   PROVIDENCE R    1.6AD											
15.5 BYFELD ST, PROVIDENCE, R    15.5 BYFELD ST   PROVIDENCE R    14.0   14.0   0.6.5 BNRGE FAMILY   FULL   15.0 BYFELD ST   PROVIDENCE R    14.0   14.0   0.6.5 BNRGE FAMILY   FULL   15.0 BYFELD ST   PROVIDENCE R    14.0   14.0   0.6.5 BNRGE FAMILY   FULL   15.0 BYFELD ST   PROVIDENCE R    14.0   14.0   0.6.5 BNRGE FAMILY   FULL   17.0 BYFELD ST   PROVIDENCE R    14.0   14.0   0.75 BNRGE FAMILY   FULL   17.0 BYFELD ST   PROVIDENCE R    14.0   14.0   0.75 BNRGE FAMILY   FULL   17.0 BYFELD ST   PROVIDENCE R    14.0   14.0   0.65 BNRGE FAMILY   FULL   17.0 BYFELD ST   PROVIDENCE R    14.0   14.0   0.65 BNRGE FAMILY   FULL   17.0 BYFELD ST   PROVIDENCE R    14.0   14.0   0.65 BNRGE FAMILY   FULL   14.0   0.6											
165 SMYFLED ST, PROVIDENCE, RI											
188 BYFELD ST, PROVIDENCE, R    159 BYFELD ST, PROVIDENCE R    1.72 BYFELD ST, PROVIDENCE R    1.72 BYFELD ST, PROVIDENCE R    1.73 BYFELD ST, PROVIDENCE R    1.74 BYFELD ST, PROVIDENCE R    1.75 BYFELD ST, PROVIDENCE R											
123 BYFIELD ST, PROVIDENCE, RI 173 BYFIELD ST, PROVIDENCE, RI 175 BYFIELD ST, PROVIDENCE, RI 175 BYFIELD ST, PROVIDENCE, RI 175 BYFIELD ST, PROVIDENCE, RI 176 BYFIELD ST, PROVIDENCE, RI 176 BYFIELD ST, PROVIDENCE, RI 176 BYFIELD ST, PROVIDENCE, RI 177 BYFIELD ST, PROVIDENCE, RI 176 BYFIELD ST, PROVIDENCE, RI 177 BYFIELD ST, PROVIDENCE, RI 176 BYFIELD ST, PROVIDENCE, RI 177 BYFIELD ST, PROVIDENCE, RI 177 BYFIELD ST, PROVIDENCE, RI 178 BCAHILL, ST, PROVIDENCE, RI 178 BCALILL,	, ,										
127 BYFELD ST, PROVIDENCE, RI 384 CARRILL ST ROVIDENCE RI LEAD				ST CT							
394 CAPILL ST. PROVIDENCE, RI   394 CAPILL ST. PROVIDENCE RI   LEAD   LEAD   LEAD   O.S. SINGLE FAMILY   PULL	·			ST CT							
396 CAHILL   ST PROVIDENCE RI	, ,										
439 CAHILL ST, PROVIDENCE, RI				-							
AGO CAHILL ST. PROVIDENCE, RI	·						== :=				
AA4 CAHILL ST, PROVIDENCE, RI											
LOURT AV, CRANSTON, R    1-0   LIFF   AVE   CRANSTON   R    LEAD   LEAD		_	-								
SCOLFAX ST, PROVIDENCE, RI				_							
SCOLFAX ST, PROVIDENCE, RI	·	14									
14 COLFAX ST, PROVIDENCE, RI		8									
15 COLFAX ST, PROVIDENCE, RI	·	9									
18 COLFAX ST, PROVIDENCE, RI											
19 COLFAX ST, PROVIDENCE, RI											
24 COLFAX ST, PROVIDENCE, RI 25 COLFAX ST 26 COLFAX ST 27 PROVIDENCE, RI 26 COLFAX ST 27 PROVIDENCE, RI 27 COLFAX ST 28 CO				-							
25 COLFAX ST, PROVIDENCE, RI 25 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 28 COLFAX ST PROVIDENCE, RI 28 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 30 COLFAX ST PROVIDENCE, RI 30 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 34 COLFAX ST PROVIDENCE, RI 35 COLFAX ST PROVIDENCE, RI 36 COLFAX ST PROVIDENCE, RI 37 PROVIDENCE, RI 38 COLFAX ST PROVIDENCE, RI 38 COLFAX ST PROVIDENCE, RI 38 COLFAX ST PROVIDENCE, RI 38 COLFAX ST, PROVIDENCE, RI 38 COLFAX ST PROVIDENCE, RI 39 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST PROVIDENCE, RI 39 COLFAX ST PROVIDENCE, RI 39 COLFAX ST, PROVIDENCE, RI 30 COLFAX ST 30 PROVIDENCE, RI 40 COLFAX ST 30											
28 COLFAX ST, PROVIDENCE, RI 28 COLFAX ST 28											
30 COLFAX ST, PROVIDENCE, RI 34 COLFAX ST PROVIDENCE RI 35 COLFAX ST PROVIDENCE RI 36 COLFAX ST, PROVIDENCE, RI 37 COLFAX ST, PROVIDENCE, RI 38 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST, PROVIDENCE, RI 30 COLFAX ST, PROVIDENCE, RI 31 COPPER 30 COLFAX ST, PROVIDENCE, RI 31 COPPER 31 COPPER 32 COLFAX ST, PROVIDENCE, RI 34 COLFAX ST, PROVIDENCE, RI 35 COLFAX ST, PROVIDENCE, RI 36 COLFAX ST, PROVIDENCE, RI 37 PROVIDENCE, RI 38 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST, PROVIDENCE, RI 30 COLFAX ST, PROVIDENCE, RI 3											
34 COLFAX ST, PROVIDENCE, RI 35 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 35 COLFAX ST, PROVIDENCE, RI 35 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY 39 COLFAX ST, PROVIDENCE, RI 38 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST PROVIDENCE, RI 39 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 36 COLFAX ST, PROVIDENCE, RI 58 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 37 COLFAX ST, PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 37 COLFAX ST, PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 37 COLFAX ST, PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 38 COLFAX ST, PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 38 COLFAX ST, PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 38 COLFAX ST, PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 39 COLFAX ST, PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 39 COLFAX ST, PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 39 COLFAX ST, PROVIDENCE, RI SE COLFAX ST, PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 39 COLFAX ST, PROVIDENCE, RI SE COLFAX ST PROVID											
35 COLFAX ST, PROVIDENCE, RI 36 COLFAX ST 37 PROVIDENCE RI 38 COLFAX ST 39 COLFAX ST 30 COLFAX S	, ,										
38 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY ST PROVIDENCE, RI 39 COLFAX ST, PROVIDENCE, RI 39 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY											
39 COLFAX ST, PROVIDENCE, RI   58 COLFAX ST PROVIDENCE RI   58 COLFAX ST PROVIDENCE RI   58 COLFAX ST, PROVIDENCE, RI   57 COLFAX ST, PROVIDENCE, RI   58 COLFAX ST PROVIDENCE, RI   58 COLFAX ST, PROVIDENCE, RI   59 COLFAX ST, PROVIDENCE, RI   50 COLFAX ST, PROVIDENCE, RI   51 COPPER   51 COPPER   52 COLFAX ST, PROVIDENCE, RI   53 COLFAX ST, PROVIDENCE, RI   54 COLFAX ST, PROVIDENCE, RI   55 COLFAX ST, PROVIDENCE, RI   56 COLFAX ST, PROVIDENCE, RI   57 COLFAX ST, PROVIDENCE, RI   58 COLFAX ST, PROVIDENCE, RI   59 COLFAX ST, PROVIDENCE, RI   50 COLFAX ST											
58 COLFAX ST, PROVIDENCE, RI 58 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY PROVIDENCE, RI 78 COLFAX ST, PROVIDENCE, RI 78 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY PRIVATE ONLY PROVIDENCE, RI 78 COLFAX ST PROVIDENCE, RI 78 COLFAX				ST		RI					
67 COLFAX ST, PROVIDENCE, RI 67 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY RS COLFAX ST, PROVIDENCE, RI 78 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY ST COLFAX ST, PROVIDENCE, RI 85 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY RIVATE											
78 COLFAX ST, PROVIDENCE, RI 78 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 85 COLFAX ST, PROVIDENCE, RI 85 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 86 COLFAX ST, PROVIDENCE, RI 86 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY 93 COLFAX ST, PROVIDENCE, RI 93 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 98 COLFAX ST PROVIDENCE, RI 98 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY 102 COLFAX ST, PROVIDENCE, RI 102 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST, PROV	·			ST		RI					
85 COLFAX ST, PROVIDENCE, RI 85 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 86 COLFAX ST, PROVIDENCE, RI 86 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY 93 COLFAX ST, PROVIDENCE, RI 93 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 98 COLFAX ST, PROVIDENCE, RI 98 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY 102 COLFAX ST, PROVIDENCE, RI 102 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 106 COLFAX ST, CRANSTON, RI 107 DINDEN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 107 DINDEN ST, CRANSTON, RI 108 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 108 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 107 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 107 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 107 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 107 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 108 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 109 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 109 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 109 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 109 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 109 DUNEDIN ST, CRANSTON, RI 109 DUNEDIN ST		_		ST		RI		===			
86 COLFAX ST, PROVIDENCE, RI 93 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY 98 COLFAX ST, PROVIDENCE, RI 98 COLFAX ST PROVIDENCE, RI 98 COLFAX ST PROVIDENCE, RI 98 COLFAX ST PROVIDENCE, RI 102 COLFAX ST, PROVIDENCE, RI 103 COLFAX ST PROVIDENCE, RI 104 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE, RI 105 COLFAX ST PROVIDENCE, RI 106 COLFAX ST, PROVIDENCE, RI 107 COLFAX ST PROVIDENCE, RI 108 COLFAX ST PROVIDENCE, RI 109 COLFAX ST PROVIDENCE, RI 109 COLFAX ST PROVIDENCE, RI 100 SINGLE FAMILY PRIVATE ONLY 101 COLFAX ST PROVIDENCE, RI 100 COLFAX ST PROVIDENCE, RI 101 COPPER 102 COLFAX ST, PROVIDENCE, RI 103 COLFAX ST PROVIDENCE, RI 104 COPPER 105 COLFAX ST PROVIDENCE, RI 106 COLFAX ST PROVIDENCE, RI 107 COLFAX ST PROVIDENCE, RI 108 COLFAX ST PROVIDENCE, RI 109 COLFAX ST, PROVIDENCE, RI 109 COLFAX ST, PROVIDENCE, RI 100 SINGLE FAMILY PRIVATE ONLY 108 COLFAX ST PROVIDENCE, RI 109 COLFAX ST, PROVIDENCE, RI 100 SINGLE FAMILY PRIVATE ONLY 109 COLFAX ST, PROVIDENCE, RI 100 SINGLE FAMILY PRIVATE ONLY 109 COLFAX ST, PROVIDENCE, RI 100 SINGLE FAMILY PRIVATE ONLY 100 SINGLE FAMILY PRIV		_									
93 COLFAX ST, PROVIDENCE, RI 93 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 98 COLFAX ST, PROVIDENCE, RI 98 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY 102 COLFAX ST, PROVIDENCE, RI 102 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST PROVIDENCE, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COPPER LEAD 1.00 S	·			_							
98 COLFAX ST, PROVIDENCE, RI 98 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY 102 COLFAX ST, PROVIDENCE, RI 102 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 0.75 MULTI-FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 0.75 MULTI-FAMILY PRIVATE ONLY 12 DUNEDIN ST, CRANSTON, RI 12 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 12 DUNEDIN ST, CRANSTON, RI 12 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 12 DUNEDIN ST, CRANSTON, RI 12 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 12 DUNEDIN ST, CRANSTON, RI 12 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 13 DUNEDIN ST, CRANSTON, RI 12 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 14 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 15 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 16 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 17 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 18 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 19 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 10 SINGLE FAMILY PRIVATE ONLY 10 SINGLE FAMILY PRIVATE ONLY 11 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 14 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 18 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 19 DUNEDIN ST, CRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 11 STRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 11 STRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 11 STRANSTON STRANSTON, RI 10 SINGLE FAMILY PRIVATE ONLY 11 STRANSTON STRANSTON STRANSTON STRANSTON STRANSTON STRANSTON STRANSTON STRANSTON STRANSTON	86 COLFAX ST, PROVIDENCE, RI	86		ST		RI			1.00	MULTI-FAMILY	PRIVATE ONLY
102 COLFAX ST, PROVIDENCE, RI 102 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 0.75 MULTI-FAMILY PRIVATE ONLY 105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 DUNEDIN ST, CRANSTON, RI 105 COLFAX ST, PROVIDENCE RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 DUNEDIN ST, CRANSTON, RI 105 COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 DUNEDIN ST, CRANSTON, RI 105 COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 105 DUNEDIN ST, CRANSTON, RI 105 DU	93 COLFAX ST, PROVIDENCE, RI	93	COLFAX	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
105 COLFAX ST, PROVIDENCE, RI 105 COLFAX ST PROVIDENCE RI COPPER LEAD 0.75 MULTI-FAMILY PRIVATE ONLY 3 DUNEDIN ST, CRANSTON, RI 3 DUNEDIN ST CRANSTON, RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 18 DUNEDIN ST, CRANSTON, RI 18 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 19 DUNEDIN ST, CRANSTON, RI 19 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 10 DUNEDIN ST, CRANSTON, RI 19 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 10 DUNEDIN ST, CRANSTON, RI 19 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 10 DUNEDIN ST, CRANSTON, RI 19 DUNEDIN ST, CRANSTON, RI 19 COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 10 DUNEDIN ST, CRANSTON, RI 19 DUNEDI	98 COLFAX ST, PROVIDENCE, RI			ST		RI			1.00	MULTI-FAMILY	PRIVATE ONLY
3 DUNEDIN ST, CRANSTON, RI 3 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 18 DUNEDIN ST, CRANSTON, RI 18 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 21 DUNEDIN ST, CRANSTON, RI 21 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 22 DUNEDIN ST, CRANSTON, RI 22 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 25 DUNEDIN ST, CRANSTON, RI 25 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 26 DUNEDIN ST, CRANSTON, RI 26 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 26 DUNEDIN ST, CRANSTON, RI 26 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 44 DUNEDIN ST, CRANSTON, RI 44 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY	102 COLFAX ST, PROVIDENCE, RI	102	COLFAX	ST	PROVIDENCE	RI	COPPER		1.00	SINGLE FAMILY	PRIVATE ONLY
18 DUNEDIN ST, CRANSTON, RI 18 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 21 DUNEDIN ST, CRANSTON, RI 21 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 22 DUNEDIN ST, CRANSTON, RI 22 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 25 DUNEDIN ST, CRANSTON, RI 25 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 26 DUNEDIN ST, CRANSTON, RI 26 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 26 DUNEDIN ST, CRANSTON, RI 26 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 44 DUNEDIN ST, CRANSTON, RI 44 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY	105 COLFAX ST, PROVIDENCE, RI	105	COLFAX	ST	PROVIDENCE	RI	COPPER	LEAD	0.75	MULTI-FAMILY	PRIVATE ONLY
21 DUNEDIN ST, CRANSTON, RI 21 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 22 DUNEDIN ST, CRANSTON, RI 22 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 25 DUNEDIN ST, CRANSTON, RI 25 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 26 DUNEDIN ST, CRANSTON, RI 26 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 44 DUNEDIN ST, CRANSTON, RI 44 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY	3 DUNEDIN ST, CRANSTON, RI	3	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
22 DUNEDIN ST, CRANSTON, RI 22 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 25 DUNEDIN ST, CRANSTON, RI 25 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 26 DUNEDIN ST, CRANSTON, RI 26 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 44 DUNEDIN ST, CRANSTON, RI 44 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY	18 DUNEDIN ST, CRANSTON, RI	18	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
25 DUNEDIN ST, CRANSTON, RI 25 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 26 DUNEDIN ST, CRANSTON, RI 26 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 44 DUNEDIN ST, CRANSTON, RI 44 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY	21 DUNEDIN ST, CRANSTON, RI	21	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
26 DUNEDIN ST, CRANSTON, RI 26 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY 44 DUNEDIN ST, CRANSTON, RI 44 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY	22 DUNEDIN ST, CRANSTON, RI	22	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
44 DUNEDIN ST, CRANSTON, RI 44 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY	25 DUNEDIN ST, CRANSTON, RI	25	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
44 DUNEDIN ST, CRANSTON, RI 44 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 MULTI-FAMILY PRIVATE ONLY	26 DUNEDIN ST, CRANSTON, RI	26	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
45 DUNEDIN ST, CRANSTON, RI 45 DUNEDIN ST CRANSTON RI COPPER LEAD 1.00 SINGLE FAMILY PRIVATE ONLY		44	DUNEDIN		CRANSTON	RI	COPPER	LEAD			PRIVATE ONLY
	45 DUNEDIN ST, CRANSTON, RI	45	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
54 DUNEDIN ST, CRANSTON, RI	54	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
55 DUNEDIN ST, CRANSTON, RI	55	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
57 DUNEDIN ST, CRANSTON, RI	57	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
59 DUNEDIN ST, CRANSTON, RI	59	DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
91 DUNEDIN ST, CRANSTON, RI	91	DUNEDIN	ST	CRANSTON	RI	LEAD	NL	0.63	SINGLE FAMILY	UTILITY ONLY
104 DUNEDIN ST, CRANSTON, RI	104	DUNEDIN	ST	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
105 DUNEDIN ST, CRANSTON, RI		DUNEDIN	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
110 DUNEDIN ST, CRANSTON, RI	110	DUNEDIN	ST	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
113 DUNEDIN ST, CRANSTON, RI	113	DUNEDIN	ST	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
125 DUNEDIN ST. CRANSTON, RI	125	DUNEDIN	ST	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
126 DUNEDIN ST, CRANSTON, RI	126	DUNEDIN	ST	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
130 DUNEDIN ST, CRANSTON, RI	130	DUNEDIN	ST	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
147 DUNEDIN ST. CRANSTON, RI		DUNEDIN	ST	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
156 DUNEDIN ST, CRANSTON, RI	156	DUNEDIN	ST	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
341 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		COMMERCIAL	FULL
342 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
344 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
347 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
349 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
355 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
357 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		COMMERCIAL	FULL
361 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
362 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
363 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
365 DYER AV. CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
368 DYER AV, CRANSTON, RI		DYER	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
865 EDDY ST, PROVIDENCE, RI	865		ST	PROVIDENCE	RI	LEAD	NL		MULTI-FAMILY	UTILITY ONLY
881 EDDY ST, PROVIDENCE, RI	881		ST	PROVIDENCE	RI	COPPER	LEAD		COMMERCIAL	PRIVATE ONLY
969 EDDY ST, PROVIDENCE, RI		EDDY	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
1033 EDDY ST, PROVIDENCE, RI		EDDY	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
1049 EDDY ST, PROVIDENCE, RI		EDDY	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
1057 EDDY ST, PROVIDENCE, RI		EDDY	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
1069 EDDY ST, PROVIDENCE, RI		EDDY	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
1073 EDDY ST, PROVIDENCE, RI		EDDY	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
1095 EDDY ST, PROVIDENCE, RI		EDDY	ST	PROVIDENCE	RI	COPPER	LEAD		COMMERCIAL	PRIVATE ONLY
78 ELWIN ST, CRANSTON, RI		ELWIN	ST	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
107 ELWIN ST, CRANSTON, RI		ELWIN	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
75 ELWYN ST, CRANSTON, RI		ELWYN	ST	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
106 ELWYN ST, CRANSTON, RI		ELWYN	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
168 FARMINGTON AV, CRANSTON, RI			AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
178 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
183 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
186 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
187 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
188 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
192 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
193 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
			AVE		RI	LEAD	LEAD			FULL
195 FARMINGTON AV, CRANSTON, RI		FARMINGTON FARMINGTON		CRANSTON		LEAD	LEAD		SINGLE FAMILY	
196 FARMINGTON AV, CRANSTON, RI			AVE	CRANSTON	RI				MULTI-FAMILY	FULL
203 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
206 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
212 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL CAULY
221 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
226 FARMINGTON AV, CRANSTON, RI	226	FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
228 FARMINGTON AV, CRANSTON, RI	228	FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
230 FARMINGTON AV, CRANSTON, RI	230	FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
241 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
242 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
245 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
254 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
255 FARMINGTON AV, CRANSTON, RI	255	FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
256 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
258 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
263 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
264 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
277 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
278 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
281 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
300 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
336 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
372 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
379 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
380 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
387 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
389 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
389 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
395 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
397 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
					RI	LEAD	LEAD			
426 FARMINGTON AV, CRANSTON, RI		FARMINGTON	AVE	CRANSTON	RI		LEAD		SINGLE FAMILY	FULL
428 FARMINGTON AV, CRANSTON, RI		FARMINGTON FRANKLIN	AVE AVE	CRANSTON		LEAD LEAD	LEAD		SINGLE FAMILY SINGLE FAMILY	FULL FULL
116 FRANKLIN AV, CRANSTON, RI				CRANSTON	RI					
122 FRANKLIN AV, CRANSTON, RI		FRANKLIN	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
18 FRENCH ST, PROVIDENCE, RI		FRENCH	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
24 FRENCH ST, PROVIDENCE, RI		FRENCH	ST	PROVIDENCE	RI	LEAD LEAD	LEAD LEAD		SINGLE FAMILY	FULL
15 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI				SINGLE FAMILY	FULL
19 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
24 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
27 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
32 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
33 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
40 GALLUP ST, PROVIDENCE, RI	40		ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
80 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
83 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
84 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
87 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
89 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
105 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
113 GALLUP ST, PROVIDENCE, RI		GALLUP	ST	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
57 GLADSTONE ST, CRANSTON, RI		GLADSTONE	ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
61 GLADSTONE ST, CRANSTON, RI		GLADSTONE	ST	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
64 GLADSTONE ST, CRANSTON, RI		GLADSTONE	ST	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
75 GLADSTONE ST, CRANSTON, RI		GLADSTONE	ST	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
79 GLADSTONE ST, CRANSTON, RI		GLADSTONE	ST	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
80 GLADSTONE ST, CRANSTON, RI	80	GLADSTONE	ST	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
115 GLADSTONE ST, CRANSTON, RI	115	GLADSTONE	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
116 GLADSTONE ST, CRANSTON, RI	116	GLADSTONE	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
119 GLADSTONE ST, CRANSTON, RI	119	GLADSTONE	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
126 GLADSTONE ST, CRANSTON, RI	126	GLADSTONE	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
11 HARRIET ST, PROVIDENCE, RI	11	HARRIET	ST	PROVIDENCE	RI	LEAD	LEAD	0.75	MULTI-FAMILY	FULL
38 HARRIET ST, PROVIDENCE, RI	38	HARRIET	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
99 HARRIET ST, PROVIDENCE, RI	99	HARRIET	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
103 HARRIET ST, PROVIDENCE, RI	103	HARRIET	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
109 HARRIET ST, PROVIDENCE, RI	109	HARRIET	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
113 HARRIET ST, PROVIDENCE, RI	113	HARRIET	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
114 HARRIET ST, PROVIDENCE, RI		HARRIET	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
124 HEATHER ST, CRANSTON, RI	124	HEATHER	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
183 HEATHER ST, CRANSTON, RI	183	HEATHER	ST	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
214 HEATHER ST, CRANSTON, RI	214	HEATHER	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
244 HEATHER ST, CRANSTON, RI	244	HEATHER	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
100 HILLWOOD ST, CRANSTON, RI		HILLWOOD	ST	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
128 HILLWOOD ST, CRANSTON, RI		HILLWOOD	ST	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
13 JUNE AV, CRANSTON, RI		JUNE	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
14 JUNE AV, CRANSTON, RI		JUNE	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
21 JUNE AV, CRANSTON, RI		JUNE	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
22 JUNE AV, CRANSTON, RI		JUNE	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
25 JUNE AV, CRANSTON, RI		JUNE	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
34 JUNE AV, CRANSTON, RI		JUNE	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
42 JUNE AV, CRANSTON, RI		JUNE	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
45 JUNE AV, CRANSTON, RI		JUNE	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
410 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
413 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
416 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
418 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
419 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
425 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
435 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
435 LAUREL HILL AV, CRANSTON, RI 437 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
447 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
450 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
450 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
464 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
						COPPER	LEAD			
465 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI				MULTI-FAMILY	PRIVATE ONLY
469 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
470 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
472 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
483 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
484 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
492 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
495 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
498 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
503 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
509 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
527 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
530 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
547 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
562 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
573 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
576 LAUREL HILL AV, CRANSTON, RI		LAUREL HILL	AVE	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
23 LAWRENCE ST, CRANSTON, RI	23	LAWRENCE	ST	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
28 LAWRENCE ST, CRANSTON, RI	28	LAWRENCE	ST	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
31 LAWRENCE ST, CRANSTON, RI	31	LAWRENCE	ST	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
56 LAWRENCE ST, CRANSTON, RI		LAWRENCE	ST	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
59 LAWRENCE ST, CRANSTON, RI	59	LAWRENCE	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
65 LAWRENCE ST, CRANSTON, RI	65	LAWRENCE	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
66 LAWRENCE ST, CRANSTON, RI	66	LAWRENCE	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
85 LAWRENCE ST, CRANSTON, RI	85	LAWRENCE	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
92 LAWRENCE ST, CRANSTON, RI	92	LAWRENCE	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
14 LOUISA ST, PROVIDENCE, RI	14	LOUISA	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
22 LOUISA ST, PROVIDENCE, RI	22	LOUISA	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
19 MAPLEWOOD AV, CRANSTON, RI	19	MAPLEWOOD	AVE	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
19 MAPLEWOOD AV, CRANSTON, RI	19	MAPLEWOOD	AVE	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
24 MAPLEWOOD AV, CRANSTON, RI	24	MAPLEWOOD	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
25 MAPLEWOOD AV, CRANSTON, RI	25	MAPLEWOOD	AVE	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
32 MAPLEWOOD AV, CRANSTON, RI	32	MAPLEWOOD	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
40 MAPLEWOOD AV, CRANSTON, RI	40	MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
53 MAPLEWOOD AV, CRANSTON, RI	53	MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
57 MAPLEWOOD AV, CRANSTON, RI	57	MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
60 MAPLEWOOD AV, CRANSTON, RI	60	MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
74 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
77 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
78 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
82 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
84 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
93 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
95 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
101 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
105 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
108 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
114 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
117 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
118 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
121 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
128 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
151 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
152 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
156 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
175 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
186 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
190 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
196 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
204 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
223 MAPLEWOOD AV, CRANSTON, RI		MAPLEWOOD	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
57 MICA AV, CRANSTON, RI		MICA	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
61 MICA AV, CRANSTON, RI		MICA	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
68 MICA AV, CRANSTON, RI		MICA	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
31 MINER ST, PROVIDENCE, RI		MINER	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
92 MINER ST, PROVIDENCE, RI		MINER	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
97 MINER ST, PROVIDENCE, RI		MINER	ST	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
101 MINER ST, PROVIDENCE, RI		MINER		PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
104 MINER ST, PROVIDENCE, RI		MINER	ST ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
		MINER	ST CT	PROVIDENCE	RI	LEAD	LEAD			FULL
105 MINER ST, PROVIDENCE, RI			S I						MULTI-FAMILY	
106 MINER ST, PROVIDENCE, RI		MINER	ST	PROVIDENCE	RI	COPPER	LEAD LEAD		SINGLE FAMILY	PRIVATE ONLY
10 MYSTIC ST, PROVIDENCE, RI		MYSTIC	ST	PROVIDENCE	RI	COPPER			SINGLE FAMILY	PRIVATE ONLY
26 MYSTIC ST, PROVIDENCE, RI		MYSTIC	ST	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
30 MYSTIC ST, PROVIDENCE, RI		MYSTIC	ST	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
34 MYSTIC ST, PROVIDENCE, RI	34	MYSTIC	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
39 MYSTIC ST, PROVIDENCE, RI	39	MYSTIC	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
9 NEBRASKA ST, PROVIDENCE, RI	9	NEBRASKA	ST	PROVIDENCE	RI	LEAD	NL	0.63	MULTI-FAMILY	UTILITY ONLY
17 NEBRASKA ST, PROVIDENCE, RI	17	NEBRASKA	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
19 NEBRASKA ST, PROVIDENCE, RI	19	NEBRASKA	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
21 NEBRASKA ST, PROVIDENCE, RI	21	NEBRASKA	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
28 NEBRASKA ST, PROVIDENCE, RI	28	NEBRASKA	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
35 NEBRASKA ST, PROVIDENCE, RI	35	NEBRASKA	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
5 OCEAN ST, PROVIDENCE, RI	5	OCEAN	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
18 OCEAN ST, PROVIDENCE, RI	18	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
25 OCEAN ST, PROVIDENCE, RI	25	OCEAN	ST	PROVIDENCE	RI	COPPER	LEAD	0.75	SINGLE FAMILY	PRIVATE ONLY
29 OCEAN ST, PROVIDENCE, RI	29	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
70 OCEAN ST, PROVIDENCE, RI	70	OCEAN	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
75 OCEAN ST, PROVIDENCE, RI	75	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
78 OCEAN ST, PROVIDENCE, RI	78	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
79 OCEAN ST, PROVIDENCE, RI	79	OCEAN	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
85 OCEAN ST, PROVIDENCE, RI	85	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
90 OCEAN ST, PROVIDENCE, RI	90	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
93 OCEAN ST, PROVIDENCE, RI	93	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.50	SINGLE FAMILY	FULL
141 OCEAN ST, PROVIDENCE, RI	141	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
150 OCEAN ST, PROVIDENCE, RI	150	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
151 OCEAN ST, PROVIDENCE, RI	151	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
151 OCEAN ST, PROVIDENCE, RI	151	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
161 OCEAN ST, PROVIDENCE, RI	161	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
162 OCEAN ST, PROVIDENCE, RI	162	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
167 OCEAN ST, PROVIDENCE, RI	167	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
169 OCEAN ST, PROVIDENCE, RI	169	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
179 OCEAN ST, PROVIDENCE, RI	179	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
182 OCEAN ST, PROVIDENCE, RI	182	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
192 OCEAN ST, PROVIDENCE, RI	192	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
205 OCEAN ST, PROVIDENCE, RI	205	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
206 OCEAN ST, PROVIDENCE, RI	206	OCEAN	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
210 OCEAN ST, PROVIDENCE, RI	210	OCEAN	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
216 OCEAN ST, PROVIDENCE, RI	216	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
224 OCEAN ST, PROVIDENCE, RI	224	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
230 OCEAN ST, PROVIDENCE, RI	230	OCEAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
78 OXFORD ST, CRANSTON, RI	78	OXFORD	ST	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
131 OXFORD ST, PROVIDENCE, RI	131	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
131 OXFORD ST, CRANSTON, RI	131	OXFORD	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
142 OXFORD ST, PROVIDENCE, RI	142	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
143 OXFORD ST, PROVIDENCE, RI	143	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
144 OXFORD ST, PROVIDENCE, RI	144	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.50	SINGLE FAMILY	FULL
145 OXFORD ST, PROVIDENCE, RI	145	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.75	MULTI-FAMILY	FULL
146 OXFORD ST, CRANSTON, RI	146	OXFORD	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
146 OXFORD ST, PROVIDENCE, RI		OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
148 OXFORD ST, PROVIDENCE, RI	148	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
150 OXFORD ST, PROVIDENCE, RI	150	OXFORD	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
155 OXFORD ST, CRANSTON, RI		OXFORD	ST	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
156 OXFORD ST, PROVIDENCE, RI	156	OXFORD	ST	PROVIDENCE	RI	LEAD	NL	0.63	MULTI-FAMILY	UTILITY ONLY
160 OXFORD ST, PROVIDENCE, RI	160	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
169 OXFORD ST, PROVIDENCE, RI		OXFORD	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
192 OXFORD ST, PROVIDENCE, RI	192	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
206 OXFORD ST, PROVIDENCE, RI	206	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
222 OXFORD ST, PROVIDENCE, RI	222	OXFORD	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
228 OXFORD ST, PROVIDENCE, RI	228	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
239 OXFORD ST, PROVIDENCE, RI	239	OXFORD	ST	PROVIDENCE	RI	LEAD	LEAD	1.25	SINGLE FAMILY	FULL
73 PAVILION AV, PROVIDENCE, RI	73	PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
77 PAVILION AV. PROVIDENCE. RI	77	PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
115 PAVILION AV, PROVIDENCE, RI	115	PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
121 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
126 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
127 PAVILION AV, PROVIDENCE, RI	127	PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
128 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
131 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE		LEAD	LEAD		SINGLE FAMILY	FULL
183 PAVILION AV, PROVIDENCE, RI	183	PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
190 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
191 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
192 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
197 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
200 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
204 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
208 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
210 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
211 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
213 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
214 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
222 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
233 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
239 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
247 PAVILION AV, PROVIDENCE, RI		PAVILION	AVE	PROVIDENCE	RI	COPPER	LEAD		COMMERCIAL	PRIVATE ONLY
334 PLAIN ST, PROVIDENCE, RI		PLAIN	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
20 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	NL		SINGLE FAMILY	UTILITY ONLY
28 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
34 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
36 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
37 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
46 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
54 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
57 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
69 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
70 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
72 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
75 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
78 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
81 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
85 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
90 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
91 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
97 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE		LEAD	LEAD		MULTI-FAMILY	FULL
104 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
118 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
121 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
141 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY PRIVATE ONLY
142 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY SINGLE FAMILY	FULL
174 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
180 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
184 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
185 POTTERS AV, PROVIDENCE, RI		POTTERS	AVE	PROVIDENCE	RI	COPPER	LEAD		COMMERCIAL	PRIVATE ONLY
		PRAIRIE				LEAD	LEAD			
376 PRAIRIE AV, PROVIDENCE, RI	3/6	KAIKIE	AVE	PROVIDENCE	KI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
387 PRAIRIE AV, PROVIDENCE, RI	387	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
388 PRAIRIE AV, PROVIDENCE, RI	388	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
403 PRAIRIE AV, PROVIDENCE, RI	403	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
407 PRAIRIE AV, PROVIDENCE, RI	407	PRAIRIE	AVE	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
412 PRAIRIE AV, PROVIDENCE, RI	412	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
422 PRAIRIE AV, PROVIDENCE, RI	422	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
428 PRAIRIE AV, PROVIDENCE, RI	428	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
433 PRAIRIE AV, PROVIDENCE, RI	433	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	COMMERCIAL	FULL
436 PRAIRIE AV, PROVIDENCE, RI	436	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
440 PRAIRIE AV, PROVIDENCE, RI	440	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
448 PRAIRIE AV, PROVIDENCE, RI	448	PRAIRIE	AVE	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
458 PRAIRIE AV, PROVIDENCE, RI	458	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	COMMERCIAL	FULL
472 PRAIRIE AV, PROVIDENCE, RI	472	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
482 PRAIRIE AV, PROVIDENCE, RI	482	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
484 PRAIRIE AV, PROVIDENCE, RI	484	PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
506 PRAIRIE AV, PROVIDENCE, RI	506	PRAIRIE	AVE	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
508 PRAIRIE AV, PROVIDENCE, RI	508	PRAIRIE	AVE	PROVIDENCE	RI	COPPER	LEAD		COMMERCIAL	PRIVATE ONLY
512 PRAIRIE AV, PROVIDENCE, RI	512	PRAIRIE	AVE	PROVIDENCE	RI	COPPER	LEAD	1.00	COMMERCIAL	PRIVATE ONLY
532 PRAIRIE AV, PROVIDENCE, RI	532	PRAIRIE	AVE	PROVIDENCE	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
536 PRAIRIE AV, PROVIDENCE, RI		PRAIRIE	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
567 PRAIRIE AV, PROVIDENCE, RI		PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
571 PRAIRIE AV, PROVIDENCE, RI		PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
591 PRAIRIE AV, PROVIDENCE, RI		PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
593 PRAIRIE AV, PROVIDENCE, RI		PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
605 PRAIRIE AV, PROVIDENCE, RI		PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
621 PRAIRIE AV, PROVIDENCE, RI		PRAIRIE	AVE	PROVIDENCE	RI	COPPER	LEAD		PARK	PRIVATE ONLY
700 PRAIRIE AV, PROVIDENCE, RI		PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD		COMMERCIAL	FULL
706 PRAIRIE AV, PROVIDENCE, RI		PRAIRIE	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
381 PRINCESS AV, CRANSTON, RI		PRINCESS	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
396 PRINCESS AV, CRANSTON, RI		PRINCESS	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
428 PRINCESS AV, CRANSTON, RI		PRINCESS	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
445 PRINCESS AV, CRANSTON, RI		PRINCESS	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
461 PRINCESS AV, CRANSTON, RI		PRINCESS	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
471 PRINCESS AV, CRANSTON, RI		PRINCESS	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
472 PRINCESS AV, CRANSTON, RI		PRINCESS	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
475 PRINCESS AV, CRANSTON, RI		PRINCESS	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
215 PUBLIC ST, PROVIDENCE, RI		PUBLIC	ST	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
219 PUBLIC ST, PROVIDENCE, RI		PUBLIC	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
253 PUBLIC ST, PROVIDENCE, RI		PUBLIC	ST	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
290 PUBLIC ST, PROVIDENCE, RI		PUBLIC	ST	PROVIDENCE	RI	COPPER	LEAD		COMMERCIAL	PRIVATE ONLY
320 PUBLIC ST, PROVIDENCE, RI		PUBLIC	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
342 PUBLIC ST, PROVIDENCE, RI		PUBLIC	ST	PROVIDENCE	RI	COPPER	LEAD		COMMERCIAL	PRIVATE ONLY
380 PUBLIC ST, PROVIDENCE, RI		PUBLIC	ST	PROVIDENCE	RI	COPPER	LEAD		COMMERCIAL	PRIVATE ONLY
8 RACHEL ST, PROVIDENCE, RI		RACHEL	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
24 RACHEL ST, PROVIDENCE, RI		RACHEL	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
9 REEVES PL, CRANSTON, RI		REEVES	PL	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
10 REEVES PL, CRANSTON, RI		REEVES	PL	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
20 REYNOLDS AV, PROVIDENCE, RI		REYNOLDS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
24 REYNOLDS AV, PROVIDENCE, RI		REYNOLDS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
25 REYNOLDS AV, PROVIDENCE, RI		REYNOLDS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
31 REYNOLDS AV, PROVIDENCE, RI		REYNOLDS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
32 REYNOLDS AV, PROVIDENCE, RI		REYNOLDS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
41 REYNOLDS AV, PROVIDENCE, RI		REYNOLDS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
42 REYNOLDS AV, PROVIDENCE, RI		REYNOLDS	AVE	PROVIDENCE		LEAD	LEAD		MULTI-FAMILY	FULL
42 KEYNULDS AV, PKUVIDENCE, RI	42	KEYNULDS	AVE	PROVIDENCE	KI	LEAD	LEAU	0.63	IVIULII-FAMILY	FULL

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
44 REYNOLDS AV, PROVIDENCE, RI	44	REYNOLDS	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
48 REYNOLDS AV, PROVIDENCE, RI	48	REYNOLDS	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
49 REYNOLDS AV, PROVIDENCE, RI	49	REYNOLDS	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
53 REYNOLDS AV, PROVIDENCE, RI	53	REYNOLDS	AVE	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
58 REYNOLDS AV, PROVIDENCE, RI		REYNOLDS	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
23 RUGBY ST, PROVIDENCE, RI		RUGBY	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
27 RUGBY ST, PROVIDENCE, RI		RUGBY	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
68 RUGBY ST, PROVIDENCE, RI		RUGBY	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
72 RUGBY ST, PROVIDENCE, RI		RUGBY	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
110 RUGBY ST, PROVIDENCE, RI		RUGBY	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
124 RUGBY ST, PROVIDENCE, RI		RUGBY	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
		RUGBY		PROVIDENCE		COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
144 RUGBY ST, PROVIDENCE, RI			ST		RI					
167 RUGBY ST, PROVIDENCE, RI		RUGBY	ST	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
173 RUGBY ST, PROVIDENCE, RI		RUGBY	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
18 RYDER AV, CRANSTON, RI		RYDER	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
11 SALISBURY ST, PROVIDENCE, RI		SALISBURY	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
14 SALISBURY ST, PROVIDENCE, RI		SALISBURY	ST	PROVIDENCE	RI	LEAD	NL		MULTI-FAMILY	UTILITY ONLY
21 SALISBURY ST, PROVIDENCE, RI		SALISBURY	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
248 SAYLES ST, PROVIDENCE, RI	248	SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
251 SAYLES ST, PROVIDENCE, RI	251	SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
264 SAYLES ST, PROVIDENCE, RI	264	SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
268 SAYLES ST, PROVIDENCE, RI	268	SAYLES	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
269 SAYLES ST, PROVIDENCE, RI	269	SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD	0.75	MULTI-FAMILY	FULL
278 SAYLES ST, PROVIDENCE, RI	278	SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
280 SAYLES ST, PROVIDENCE, RI	280	SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
287 SAYLES ST, PROVIDENCE, RI	287	SAYLES	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
291 SAYLES ST, PROVIDENCE, RI	291		ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
295 SAYLES ST, PROVIDENCE, RI	295	SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
313 SAYLES ST, PROVIDENCE, RI	313	SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
315 SAYLES ST, PROVIDENCE, RI		SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
361 SAYLES ST, PROVIDENCE, RI		SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
365 SAYLES ST, PROVIDENCE, RI		SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
380 SAYLES ST, PROVIDENCE, RI		SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
383 SAYLES ST, PROVIDENCE, RI		SAYLES	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
12 SEARLE ST, PROVIDENCE, RI		SEARLE	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
16 SEARLE ST, PROVIDENCE, RI		SEARLE	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
20 SEARLE ST, PROVIDENCE, RI		SEARLE	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
21 SEARLE ST, PROVIDENCE, RI		SEARLE	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
24 SEARLE ST, PROVIDENCE, RI		SEARLE	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
		STAYTON		CRANSTON	1	LEAD	LEAD		SINGLE FAMILY	FULL
19 STAYTON ST, CRANSTON, RI			ST		RI	LEAD	LEAD			FULL
22 STAYTON ST, CRANSTON, RI		STAYTON	ST	CRANSTON	RI				MULTI-FAMILY	-
23 STAYTON ST, CRANSTON, RI		STAYTON	ST	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
247 SWAN ST, PROVIDENCE, RI		SWAN	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
281 SWAN ST, PROVIDENCE, RI	281		ST	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
284 SWAN ST, PROVIDENCE, RI		SWAN	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
288 SWAN ST, PROVIDENCE, RI		SWAN	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
297 SWAN ST, PROVIDENCE, RI	297		ST	PROVIDENCE	RI	LEAD	NL		SINGLE FAMILY	UTILITY ONLY
307 SWAN ST, PROVIDENCE, RI	307	SWAN	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
310 SWAN ST, PROVIDENCE, RI		SWAN	ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
311 SWAN ST, PROVIDENCE, RI	311	SWAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
315 SWAN ST, PROVIDENCE, RI	315	SWAN	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
23 TEMPLE ST, PROVIDENCE, RI	23	TEMPLE	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
31 TEMPLE ST, PROVIDENCE, RI	31	TEMPLE	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
39 TEMPLE ST, PROVIDENCE, RI	39	TEMPLE	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
-		-				•	-		_	

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
42 TEMPLE ST, PROVIDENCE, RI	42	TEMPLE	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
13 TENNYSON LN, PROVIDENCE, RI	13	TENNYSON	LN	PROVIDENCE	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
126 TERRACE AV, CRANSTON, RI	126	TERRACE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
129 TERRACE AV, CRANSTON, RI	129	TERRACE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
138 TERRACE AV, CRANSTON, RI	138	TERRACE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
139 TERRACE AV, CRANSTON, RI	139	TERRACE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
148 TERRACE AV, CRANSTON, RI	148	TERRACE	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
158 TERRACE AV, CRANSTON, RI	158		AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
161 TERRACE AV, CRANSTON, RI	161	TERRACE	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
176 TERRACE AV, CRANSTON, RI		TERRACE	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
186 TERRACE AV, CRANSTON, RI	186	TERRACE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
199 TERRACE AV, CRANSTON, RI	199	TERRACE	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
212 TERRACE AV, CRANSTON, RI	212	TERRACE	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
217 TERRACE AV, CRANSTON, RI	217		AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
225 TERRACE AV, CRANSTON, RI	225		AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
231 TERRACE AV, CRANSTON, RI		TERRACE	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
215 THURBERS AV, PROVIDENCE, RI	215		AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
223 THURBERS AV, PROVIDENCE, RI		THURBERS	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
227 THURBERS AV, PROVIDENCE, RI		THURBERS	AVE	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
12 TRASK ST, PROVIDENCE, RI		TRASK	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
21 TRASK ST, PROVIDENCE, RI	21		ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
25 TRASK ST, PROVIDENCE, RI	25		ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
26 TRASK ST, PROVIDENCE, RI	26		ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
29 TRASK ST, PROVIDENCE, RI	29		ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
38 TRASK ST. PROVIDENCE, RI	38		ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
41 TRASK ST, PROVIDENCE, RI	41		ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
47 TRASK ST, PROVIDENCE, RI	47		ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
48 TRASK ST. PROVIDENCE, RI	48		ST	PROVIDENCE	RI	LEAD	LEAD		MULTI-FAMILY	FULL
49 TRASK ST, PROVIDENCE, RI		TRASK	ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
50 TRASK ST, PROVIDENCE, RI		TRASK	ST	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
74 TRASK ST, PROVIDENCE, RI	74		ST	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
	98		ST	PROVIDENCE		LEAD	LEAD			FULL
98 TRASK ST, PROVIDENCE, RI	330	_	_		RI	COPPER	LEAD		MULTI-FAMILY	
330 UNION AV, PROVIDENCE, RI			AVE	PROVIDENCE	RI		LEAD		MULTI-FAMILY	PRIVATE ONLY
331 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	COPPER			MULTI-FAMILY	PRIVATE ONLY
335 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
337 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
338 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
339 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
346 UNION AV, CRANSTON, RI	346		AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
350 UNION AV, CRANSTON, RI		UNION	AVE	CRANSTON	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
366 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
373 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
404 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
408 UNION AV, PROVIDENCE, RI	408		AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
409 UNION AV, PROVIDENCE, RI	409	UNION	AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
411 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	COPPER	LEAD		SINGLE FAMILY	PRIVATE ONLY
419 UNION AV, PROVIDENCE, RI		UNION	AVE	PROVIDENCE	RI	LEAD	LEAD		SINGLE FAMILY	FULL
432 UNION AV, PROVIDENCE, RI	432		AVE	PROVIDENCE	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
45 WAKEFIELD AV, CRANSTON, RI		WAKEFIELD	AVE	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
41 WALES ST, CRANSTON, RI		WALES	ST	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
42 WALES ST, CRANSTON, RI		WALES	ST	CRANSTON	RI	LEAD	LEAD		MULTI-FAMILY	FULL
366 WEBSTER AV, CRANSTON, RI		WEBSTER	AVE	CRANSTON	RI	COPPER	LEAD		MULTI-FAMILY	PRIVATE ONLY
405 WEBSTER AV, CRANSTON, RI		WEBSTER	AVE	CRANSTON	RI	LEAD	LEAD		SINGLE FAMILY	FULL
63 WHIPPLE AV, CRANSTON, RI	63	WHIPPLE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL

FULL ADDRESS	HOUSE NUMBER	STREET NAME	SUFFIX	CITY	STATE	PUBLIC SIDE MATERIAL	PRIVATE SIDE MATERIAL	SERVICE DIAMETER	BUILDING TYPE	REPLACEMENT TYPE
63 WHIPPLE AV, CRANSTON, RI	63	WHIPPLE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
64 WHIPPLE AV, CRANSTON, RI	64	WHIPPLE	AVE	CRANSTON	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
69 WHIPPLE AV, CRANSTON, RI	69	WHIPPLE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
72 WHIPPLE AV, CRANSTON, RI	72	WHIPPLE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
74 WHIPPLE AV, CRANSTON, RI	74	WHIPPLE	AVE	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
75 WHIPPLE AV, CRANSTON, RI	75	WHIPPLE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
79 WHIPPLE AV, CRANSTON, RI	79	WHIPPLE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
87 WHIPPLE AV, CRANSTON, RI	87	WHIPPLE	AVE	CRANSTON	RI	COPPER	LEAD	0.75	SINGLE FAMILY	PRIVATE ONLY
93 WHIPPLE AV, CRANSTON, RI	93	WHIPPLE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	MULTI-FAMILY	FULL
106 WHIPPLE AV, CRANSTON, RI	106	WHIPPLE	AVE	CRANSTON	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
112 WHIPPLE AV, CRANSTON, RI	112	WHIPPLE	AVE	CRANSTON	RI	COPPER	LEAD	1.00	SINGLE FAMILY	PRIVATE ONLY
12 WYATT ST, PROVIDENCE, RI	12	WYATT	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
16 WYATT ST, PROVIDENCE, RI	16	WYATT	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL
17 WYATT ST, PROVIDENCE, RI	17	WYATT	ST	PROVIDENCE	RI	LEAD	LEAD	1.00	MULTI-FAMILY	FULL
18 WYATT ST, PROVIDENCE, RI	18	WYATT	ST	PROVIDENCE	RI	COPPER	LEAD	1.00	MULTI-FAMILY	PRIVATE ONLY
22 WYATT ST, PROVIDENCE, RI	22	WYATT	ST	PROVIDENCE	RI	LEAD	LEAD	0.63	SINGLE FAMILY	FULL